
8cm

3cm
2cm

7cm

3cm
Ｏ

60°

12cm

⑳　体積

✜ % 3 % 3 % 8 %
1
3

= 2424✜(cmcm3)
⑲　表面積

3 % 2 % 2 + (3 % 2 + 2 % 2) % 7

= 1212 + 7070

= 8282(cmcm2)

⑱ 　弧の長さ

2✜ % 1212 %
6060

360360360
= 6✜(cmcm)

◆図形の計量

a = xyxyより a = 3 % 6

a = 1818 y = 1818
x

⑰　y は x に反比例し，  のとき，  である。x = 3 y = 6

y = axaxより −8 = a % 4

4a4a = −8

a = −2 y = −2x2x

⑯　y は x に比例し，  のとき，  である。x = 4 y = −8

◆関数の式

⑭ 7x7x − 9 = 3x3x + 1111

7x7x − 3x3x = 1111 + 9

4x4x = 2020

x = 5

⑬ x : 9 = 2 : 6

6x6x = 2 % 9

x = 2 % 9
6

x = 3

⑮ 








3x3x − 2y2y = 1212

2x2x + y = 1

･････････①

･････････②

② % 2　　　　　　

4x4x + 2y2y = 2･････････② ∏

①＋② ∏　　　　　

7x7x = 1414

x = 2

x = 2を②に代入　　

2 % 2 + y = 1

4 + y = 1

y = 1 − 4

y = −3

(x , y) = ( 2 , −3 )

◆方程式・比例式

⑫ 1
3

(5x5x + 1) − 1
2

(3x3x − 1)

=
2(5x5x + 1) − 3(3x3x − 1)

6

= 10x10x10x + 2 − 9x9x + 3
6

= x + 5
6

⑪ 4(2x2x − 5y5y) − 3(x − 4y4y)

= 8x8x − 20y20y20y − 3x3x + 12y12y12y

= 8x8x − 3x3x − 20y20y20y + 12y12y12y

= 5x5x − 8y8y

⑩ 24x24x24x2y + 3y3y + 2x2x

=
24x24x24x2y

3y3y % 2x2x

= 4x4x

⑨ (54x54x54x − 24y24y24y) % 1
6

= 9x9x − 4y4y

⑧ 8(4a4a − 3b3b)

= 32a32a32a − 24b24b24b

⑦ 9x9x − 4y4y + 5x5x − 8y8y

= 9x9x + 5x5x − 4y4y − 8y8y

= 14x14x14x − 12y12y12y

⑥ (−0.8) % (−0.7)

= 0.5656

⑤ (− 5
1212

) + (− 1515
8

)

= 5 % 8
1212 % 1515

= 1 % 2
3 % 3

= 2
9

④ 
1
3

− 3
4

= 4
1212

− 9
1212

= − 5
1212

③ −6 % 7

= −4242

② −4 − 6

= −1010

① −3 + 1010

= 7

◆計算
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8cm

4cm 3cm

6cm

4cm

Ｏ

5cm
144°

⑳　体積

3 % 4 %
1
2
% 8 = 4848(cmcm3)

⑲　表面積

✜ % 4 % 4 + ✜ % 6 % 6 %
2✜ % 4
2✜ % 6

= 1616✜ + 2424✜

= 4040✜(cmcm2)

⑱ 　面積

✜ % 5 % 5 %
144144144
360360360

= 1010✜(cmcm2)

◆図形の計量

a = xyxyより a = −5 % 6

a = −3030 y = − 3030
x

⑰　y は x に反比例し，  のとき，  である。x = −5 y = 6

y = axaxより 1212 = a % 3

3a3a = 1212

a = 4 y = 4x4x

⑯　y は x に比例し，  のとき，  である。x = 3 y = 1212

◆関数の式

⑭ 5x5x − 7 = 7x7x + 9

5x5x − 7x7x = 9 + 7

−2x2x = 1616

x = −8

⑬ 4 : x = 3 : 6

3x3x = 4 % 6

x = 4 % 6
3

x = 8

⑮ 








5x5x + 3y3y = 3

3x3x + y = 5

･････････①

･････････②

② % 3　　　　　　

9x9x + 3y3y = 1515･････････② ∏

① −② ∏　　　　　
−4x4x = −1212

x = 3

x = 3を②に代入　　

3 % 3 + y = 5

9 + y = 5

y = 5 − 9

y = −4

(x , y) = ( 3 , −4 )

◆方程式・比例式

⑫ 
3x3x − 2

5
− x − 3

4

=
4(3x3x − 2) − 5(x − 3)

2020

= 12x12x12x − 8 − 5x5x + 1515
2020

= 7x7x + 7
2020

⑪ 5(a − 2b2b + 3) − 3(a − 2b2b)

= 5a5a − 10b10b10b + 1515 − 3a3a + 6b6b

= 5a5a − 3a3a − 10b10b10b + 6b6b + 1515

= 2a2a − 4b4b + 1515

⑩ 18ab18ab18ab18ab − 12ab12ab12ab12ab2
+ 3b3b

= 18ab18ab18ab18ab − 4ab4ab4ab

= 14ab14ab14ab14ab

⑨ (30a30a30a2 + 5ab5ab5ab) + (−5)

= −6a6a2 − abab

⑧ 
3x3x + 2y2y

5
% (−1515)

= (3x3x + 2y2y) % (−3)
= −9x9x − 6y6y

⑦ 12x12x12x + 3y3y − 4x4x − 7y7y

= 12x12x12x − 4x4x + 3y3y − 7y7y

= 8x8x − 4y4y

⑥ (−6)2
%

1
2424

= 3636 %
1

2424
= 3 %

1
2

= 3
2

⑤ − 1010
2121
%

1414
1515

= − 1010 % 1414
2121 % 1515

= − 2 % 2
3 % 3

= − 4
9

④ − 1
4

+ 5
6

= − 3
1212

+ 1010
1212

= 7
1212

③ (−3232) + (−4)

= 8

② 1212 − (−5)

= 1717

① 4 + (−9)

= −5

◆計算
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5cm

9cm

5cm3cm

7cm

Ｏ

16cm
135°

⑳　体積

5 % 5 % 9 %
1
3

= 7575(cmcm3)

⑲　表面積

✜ % 3 % 3 % 2 + 7 % 2✜ % 3

= 1818✜ + 4242✜

= 6060✜(cmcm2)

⑱ 　弧の長さ

2✜ % 1616 %
135135135
360360360

= 1212✜(cmcm)

◆図形の計量

a = xyxyより a = (−6) % (−8)
a = 4848 y = 4848

x

⑰　y は x に反比例し，  のとき，  である。x = −6 y = −8

y = axaxより −1212 = a % 6

6a6a = −1212

a = −2 y = −2x2x

⑯　y は x に比例し，  のとき，  である。x = 6 y = −1212

◆関数の式

⑭ 11x11x11x + 5 = 5x5x − 7

11x11x11x − 5x5x = −7 − 5

6x6x = −1212

x = −2

⑬ x : 6 = 8 : 4

4x4x = 6 % 8

x = 6 % 8
4

x = 1212

⑮ 








5x5x + 2y2y = 1414

3x3x − y = 1515

･････････①

･････････②

② % 2　　　　　　

6x6x − 2y2y = 3030･････････② ∏

①＋② ∏　　　　　

11x11x11x = 4444

x = 4

x = 4を②に代入　　

3 % 4 − y = 1515

1212 − y = 1515

−y = 1515 − 1212

−y = 3

y = −3

(x , y) = ( 4 , −3 )

◆方程式・比例式

⑫ 1
4

(7x7x + 1) − 1
3

(5x5x − 2)

=
3(7x7x + 1) − 4(5x5x − 2)

1212

= 21x21x21x + 3 − 20x20x20x + 8
1212

= x + 1111
1212

⑪ 5(3x3x − 2y2y) − 3(2x2x − y)

= 15x15x15x − 10y10y10y − 6x6x + 3y3y

= 15x15x15x − 6x6x − 10y10y10y + 3y3y

= 9x9x − 7y7y

⑩ 48xy48xy48xy48xy2
+ 8xy8xy8xy % 3y3y

=
48xy48xy48xy48xy2 % 3y3y

8xy8xy8xy

= 18y18y18y2

⑨  (35x35x35x − 7y7y) % (− 1
7

)

= −5x5x + y

⑧ (7a7a + 3b3b) % (−3)

= −21a21a21a − 9b9b

⑦ 3x3x − 11y11y11y − 5x5x + 4y4y

= 3x3x − 5x5x − 11y11y11y + 4y4y

= −2x2x − 7y7y

⑥ −2.8 + 0.4

= −7

⑤ − 7
1212
+

1414
9

= − 7 % 9
1212 % 1414

= − 1 % 3
4 % 2

= − 3
8

④ − 2
3

− 2
5

= − 1010
1515

− 6
1515

= − 1616
1515

③ (−9) % (−4)
= 3636

② −3 − 1111

= −1414

① −1212 + 7

= −5

◆計算
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